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markets are made up of members
of the distribution chain.

(A) Consumer
(B) Channel
(C) Institution
(D) Agents

Which of the following is NOT considered
a type of reseller?

(A) Wholesaler
(B) Retailers

(C) Manufacturer
(D) Suppliers

Shopping malls, super markets and
hypermarkets come under which type of
marketing?

(A) Wholesaler

(B) Direct marketing
(C) Retail

(D) Agent service

A multi channel retailer sells merchandise
(A) Over telephone

(B) Through retail stores

(C) Over internet

(D) Over more than one channel

E-retailing refers to

(A) Sales of electronic items

(B) Catalog shopping

(C) Computerized store

(D) Retailing and shopping through
internet

6.

8.

10.

All of the following are types of non-store
retailing, except

(A) Catalog retailing
(B) Vending Machines
(C) Chain store

(D) Direct Mail

A retail firm owned by its customers in
which members contribute money to open
their own store, vote on its policies, elect a
group to manage it, and receive dividends
is called a

(A) Corporate chain store.

(B) Merchandising conglomerate
(C) Voluntary chain

(D) Consumer cooperative

A systematic procedure for analyzing the
performance of a retailer is called

(A) Control

(B) Feedback

(C) Strategic planning
(D) Retail audit

is a kind of internal sources
of recruitment.

(A) Promotion

(B) Employee recommendation
(C) Transfer

(D) All of these

component allow the retailer to
offer the employees safety and security.

(A) Fixed component

(B) Fringe benefit component
(C) Variable component

(D) All the above
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1.

12.

13.

14.

15.

Many retailers have improved their operation
productivity through —.

(A) computerization
(B) outsourcing

(C) Both (A) and (B)
(D) None of these.

With the help of —— a retailer pays an
outsider party to undertake one or more of
its operating function.

(A) outsourcing

(B) credit management
(C) computerization
(D) None of these

Insurance against ——— is more important
due to government rules.

(A) environmental risk
(B) production risk
(C) Both (A) and (B)
(D) None of these

The factor leading to the growth of
retailing is

(A) changing consumer trends
(B) technology

(C) demographics

(D) All the above

Atmosphere in retailing refers to
(A) the weather outside a store.

(B) the ambience, music, color scent in a
store.

(C) assortment of products in the store.

(D) display of items in a store.

16.

17.

18.

19.

20.

This planning system checks that the item
carries a production forecast or a sales order
(A) MRP

(B) MPS
(©) SKU
(D) SBU

is the management and control by
an entity, of a third party which supplies
goods and services to that entity.
(A) vendor management
(B) supplier management
(C) retail management
(D) team management

Rs. 599, Rs. 799, Rs. 999 is called as
pricing strategy.

(A) Single

(B) Leader

(©) 0Odd

(D) Multi-unit

placed at the exits that prevent
shoplifting
(A) Electronic article surveillance
(B) Bar code
(C) RFID
(D) Stock keeping unit

The wheel of retailing explains the

emergence of new retailing forms by —.

(A) retailers cycle through peaks of high
cost price and troughs of low cost
price.

(B) whole sellers see retailing opportunity,
enter retailing, then turn to wholesaling
again.

(C) new retailers emerge, grow, mature and
decline.

(D) low margin, low price retailers enter
to compete with retailers who are high
margin and high price.



21.

22.

23.

24.

25.

In a retail store, inform the customer
about the product, offers and price.

(A) Managers
(B) Fixtures

(C) Mannequins
(D) Signage

Independent retailers who use a central
buying organization and joint promotional
efforts are called a

(A) merchandising conglomerate

(B) corporate chain store

(C) retailer cooperative

(D) voluntary chain

Channel members' sharing inventory and
order-processing information through
databases and computer systems is an
example of the use of technology in

(A) planning
(B) promotion
(C) pricing

(D) distribution

Percentage or number of customers who
move from one level to next level in buying
decision process is called

(A) conversion rate
(B) marketing rate
(C) shopping rate
(D) loyalty rate

The correct statement about chain stores

is ————

(A) they offer economic of scale in buying.
(B) they can hire good managers.

(C) they integrate wholesaling and retailing
function.

(D) they centralize function.

26.

27.

28.

29.

30.

How many rights does a consumer have
under the Consumer Protection Act?

(A) 8
B) 6
© 4
D) 5

‘Buffer stock’ is the level of stock
(A) Half of the actual stock

(B) At which the ordering process
should start

(C) Minimum stock level below which
actual stock should not fall

(D) Maximum stock in inventory

The time period between placing an order
and its receipt in stock is known

(A) lead time
(B) carrying time
(C) over time
(D) shortage time

Which of the following objectives is
concerned with strategic marketing
planning?

(A) Day-to-day performance and results.

(B) Over-all long-term organizational
growth.

(C) Identifying the
weaknesses of
department.

(D) None of the above.

strengths and
the marketing

activities performed by the retailers.
(A) Assortment of offerings.

(B) Holding stock.

(C) Extending services.

(D) All of these.
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31.

32.

33.

34.

35.

The number of product lines a company
carries is called

(A) Product mix.

(B) Product mix depth.
(C) Product mix width.
(D) Product mix length.

What is the framework that describes the
positioning of firms database to support
decisions with in the purview of total
customet loyalty?

(A) Customer retention strategy.
(B) Customer bonding.
(C) Customer positioning.

(D) Customer acquisition

Eurekha Forbes is popular for its
strategy of

(A) Personal selling.
(B) Sales promotion.
(C) Advertisement.
(D) Direct marketing.

What type of confict usually exist when the
manufacturer has established two or more
channel that sell in the same market?

(A) Multi-channel confict.

(B) Horizontal channel confict.
(C) Vertical channel confict.
(D) None of the above.

Consumer Protection Act is significant to
(A) Immovable Goods

(B) Movable Goods

(C) Particular Goods and Services

(D) All Goods and Services

36.

37.

38.

39.

40.

Under the Consumer Protection Act, the
rights of a consumer do not include to be

(A) Safety
(B) Choose
(C) Presented
(D) Informed

When the seller manipulates the price, it is
known as

(A) Caveat Emptor

(B) Unfair trade practices
(C) Restricted trade practices
(D) None of the above

The consumer has the right to get
compensation against unfair trade practices
under right to

(A) Right to choose

(B) Right to seek redressal
(C) Right to safety

(D) Right to information

The same personnel handle both
merchandising and other retail tasks in
which buying organization?

(A) Centralised
(B) Decentralised
(C) Informal

(D) Formal

is the standardized mark on jewellery.

(A) ISI

(B) FPO

(C) Hallmark
(D) CERC



41.

42.

43.

44,

45.

Visual merchandising is

(A) the practice of making the most
profitable merchandise the most
visible.

(B) the practice of making all the
merchandise as visible as possible.

(C) practiced by lower-end stores
attempting to shake their "cheap"
image.

(D) the artistic display of merchandise and
theatrical props to set the tone for the
store

The key to successful in-store visual
merchandising is

(A) successful lighting

(B) a successful floor layout
(C) successful signage

(D) All the above

Retailers often place clearance merchandise
(A) at the front of the store

(B) at the back of the store

(C) in a separate discount store

(D) All the above

is the layout or presentation of
products at retail market.

(A) Fashion merchandising
(B) Visual merchandising
(C) Merchandising

(D) Designing

What is essential for effective window
display?

(A) lighting

(B) cleaniliness

(C) simplicity

(D) All the above

46.

47.

48.

49.

50.

The following classes of costs are usually
involved in inventory decisions except

(A) Cost of ordering
(B) Carrying cost
(C) Cost of shortages
(D) Machining cost

Which of the following is NOT an
inventory?

(A) Machines

(B) Raw material

(C) Finished products
(D) Consumable tools

The minimum stock level is calculated as

(A) Reorder level — (Nornal consumption
x Normal delivery time)

(B) Reorder level + (Nornal consumption
x Normal delivery time)

(C) (Reorder level + Nornal consumption)
x Normal delivery time

(D) (Reorder level + Nornal consumption)/
Normal delivery time

The Standards of Weights and Measures Act
was passed in

(A) 1976
(B) 1960
(C) 1965
(D) 1968

The provisions of Act
are applicable in case of those goods which
are sold or distributed by weight, measure
or number.

(A) Prevention of Food Adulteration
(B) Standards of Weight and Measures
(C) Trade Marks

(D) Competition
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Skill Instructor(Retail)

1.B 26. B
2.C 27.C
3.C 28. A
4.D 29.B
5.D 30.D
6.C 31.C
7.D 32.B
8.D 33.D
9.D 34. A
10.B 35.D
11.A 36.C
12. A 37.C
13. A 38.B
14.D 39.C
15.B 40.C
16.B 41.D
17.A 42.D
18.C 43. A
19.C 44.B
20.D 45.D
21.D 46.D
22.C 47. A
23.D 48. A
24. A 49. A
25.D 50. B




